1 The Khilafat movement was led by -
(A)  Bal Gangadhar Tilak and Vipin Chandra Pal ~ (B)  Maharaja Hari Singh and Shaukat Al
(C)  Mahatma Gandhi and Khan Abdul Gaffar Khan (D)  Mohammad Ali and Shaukat Ali

(E)  Question not attempted

Raetea arerer &1 Aqed forras g fomar v oo

(A) st R frerens R fafte = et (B) BT gft fifg 3t gt srett
(C)  eTeT Tt 3 WH AT THER @ (D) rerg 37eh st aitewd et
(E) guiaws
2 The famous speech addressed by the first Prime Minister of India Jawaharlal Nehru at the hour of midinght on 14-15

August 1947, is known as: (Choose the most appropriate option from below)
(A)  Tryst with Destiny ) (B) Hope for the better future
(C) Wings of Challenges (D) Independent India

(E)  Question not attempted
WA & T T W1 SaTe et 968 g0 a9 1947 & 14-15 T <1 ety Wy f e R, simor <Rt R AT | ST

S 22 (e 7 & werd S foeeT )
A) T famsfet (B) BN HR AT R
(C) Tam AT e~ (D) 3fretree sfear
(E) igaia 9y . -
3 In the fourth phase of integration of Rajasthan, which four princely states merged into Greater Rajasthan?

(A) Alwar, Bharatpur, Dholpur, Karauli

(B) Jaipur, Jodhpur, Bikaner, Jaisalmer

(C) Kota, Tonk , Bundi, Jhalawar

(D)  Pratapgarh, Dungarpur, Kishangarh, Shahpura

(E)  Question not attempted

e 3 TR o e = i R = et o e aeee § e g
(A) e, VA, g, HE

(B) AT, FHTE, fehTT, SEART

(C) @iz, 3k, 541, AT

(D) vaATITg, SR, fRerg, ARG

(E) waia e
4 The adult human dental formula is:
e WHE & G 8
2 o f
(A) %Hg ) %%2
© 2 O ==
2122
(E)  Question not attempted / RG]
A % : [ P.T.O.




5 Given below are two statements: i
Statement (I): Blood transfusion is a method in which blood or blood products are transferred from the circulatory
)

system of one person to andther. 1
ol

Statement (IT): The first bldod transfusion was carricd out by Karl Landsteiner,
In light of the above %h!cmﬁ{% choose the most appropriafe answer from the options gwcn i‘mlw.p'

(A) Statement (I) is truc bu\ Statement (I1) is false. ; "
(B)  Statement (1) is false but Statement (1) is true. C)
(C)  Both Statement (1) and Statement (IT) are true. 0
(D)  Both Statement (I) and, Statement (1I) are false. i
(E)  Question not attempfe_rj
= @ e R §:
w1+ T @mwa%ﬁ%%ﬁqﬁ@mﬁﬁﬁaﬁmﬁﬁ%wﬁﬂﬁﬁmgmmmaﬁmﬁmm
STraT 21 o
wUT I Wﬁﬁmﬁﬁ'ﬁ%va%smm%mww ored
mmﬁ%aﬂaﬁiﬁﬂﬁa@ﬁﬁﬁmﬁﬁmﬁhﬁmmaﬁ 0
(A) & (1) Fe @ foig = (1) srae 21 (B) U (I) 376 & fobg ot (I 21
AC) e (1) I e (1) BT & € (D) % (1) 3 e (1) AT 37w &
(E) Wgﬂ' e 1
6  Which of the following is ilfc'c}rrectly matched? M
(A) Plaster of Paris - Ca'é‘.‘Cﬁé1 2 H O (B) Baking soda - NaHCO, o
(C) Washing soda - Na,CO, (D) Bleaching powder - Ca0 =]
(E)  Question not attempted €D
fratafiaa o & frae e gd T 82 @
(A) TR H% AfE- céé’é‘)“-%}{zo (B) SfFTHEEINaHCO, iﬂ
(C) =f¥FTEET- NaZCO;“'{ - (D) seAIRATYRE-Ca0
(E) Sgai@wd o ™
) o
7 Given below are two statements:

N
Statement (I) : ‘KARYA”is a program of department of science and technology, govemmcnt of Rajasthan.
Statement (I) : ‘KARYA’ dlms to provide short term research opportunities to students ofdaasw sciences at graduate

level only. o o
In light of the above statcmga}s choose thc most appropriate answer from the options gwgg Pelow

(A) Statement (I) is corrgctibut Statement (II) is incorrect, el

(B) Statement (I) is incorrect but Statement (II) is correct.

(C) Both Statement (N apdiSmtement (I1) are correct. M

(D) Both Statement 48] a[lg,Statemcnt (I1) are incorrect, )

(E)  Question not attempfed o

fadrFga frgm s vt ek

e - 1 : FE(KARYA) forageg v shenfire forsam, T sem oh u st 1 a0

o - 11 : 1 (KARYA) FLEd et T o STt bt gyt fergril 3 ey amferes i et 1 wam s
it 3 e # frefafaa faeed § § aaffies sugw s g in

£r) T (1) T g fg s (1) e B (B) m(x)m%ﬁaqwun'hﬁr %l

(©) T () S (1) ard e B (D) @ (1) T au (1) Q1 e &)

() FIRawa
A15] & . [PTO.
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igh Court Jocated?

iasthall H
where is the princip? seat o7 @) Jodhpur
A Kota (D) Ajmer
(©) Barmer q
. te
(E) Question pot attem? ) el feorar 27
e L e e p) SHT
@ ) I
© T
(E) argaf@ 99
o i duri
Who was the State Election Comrmsswncr of Rajasth*l“ ([l;)rmg 3’2::3?5-
: a
(A) Madukar Gupta o e r .tmgh Rathor
(© NR Bhasin rjit Khanna
(E) Question not attempied
a 2023 H T ﬂﬂﬂ?ﬁa"@ﬂ"m L
© IR RLiC] @) FaE
(E) gt 54
Which of the following statements 1S not true With regard t0 the Comptroller and Auditor General of India?
? The CAG is appoited by the President of India.
b. The CAG can be removed O the recommendation of the President of Inidia.
A The salary and allowances of the CAG are charged on the consol .dated fund of India.
d. The Tenure of CAG is fixed for five years:
Choose the most appropn’ate answer from the options gi;ven below:
(o) bcandd only @) aband d only
() a¢ and d only ) O & pandc only
(E) Question not attempted
ﬁﬂﬁmﬁﬁaﬂﬂﬂmﬂm%ﬁﬁﬁﬁtmﬁw%ﬁﬁﬁﬁ@
a & (CAG) W*W"ﬁ'*mﬁgﬁﬁmmgl
: 371 (CAG) 1 36 3R BT e 8
' ) o s e e & RS
d %1 (CAG P CAUEI| b @l
e ( ) 5 aer ¥ fire A war 8 ;
v g e ferret & & wrafors J9g S '
(A) FAADbC i d i '
(€) ad a, c A1Cd (B) a:aaa,baﬁtd
() FIa T D) 3paata, b3
fefafad w1&E1 4 7% feaftad o2 2-
a. afud
e ¥ b, WU
e, fAwnu d i
] . df
#ra feg e faaredt 1 0 wAtlods IUgw
Fad a ¥ S
jA) a o € ﬁﬁﬂ'%
©) et a b B
(E) ﬂﬂﬁa a1 (B) wHada aitd
(D) wawb afite 0
(P

at15] @’ 1



12 O oRE e oAt E fearard & :
a. el b. ieTdr

c. faean d. %8
e. Hfi\ﬂ'ﬂ'cﬂ
ﬁﬁqwﬁmﬁﬂwﬁﬁﬁwmaﬁr T i
(A) FaTe, d3IR b (B) Faeic,d3a
(C) Sadc,d3fe 4D) ada,b3Ne
(E) ai@ g
13 wfeum % form 3= & rgam fEd dur oy onma &2
(A) T 234 . (B) TIw0% 283
(C) TT=9% 343 AD) 3TI=0% 243
() ~ rgafaws
14 Which of the following is the starting point of the Ram Setu in India?
(A)  Arichal Munai (B) Shivaganga
(C) Thanjavur (D) Madurai

(E) Question not attempted

e # Prefefaa 3 & o a1 g w1 s fig 22

(A) g (B) FRrerm
(©) W (D) "
(B) Srfui@ ™

15 Which Union Ministry launched the ‘Swachh Sarvekshan 2023’ - Mera Shahar, Meri Pehchan’ survey? (Choose the
most appropriate option from below)
(A) Ministry of Jal Shakti
(B) Ministry of Tourism
(C) Ministry of Housing and Urban Affairs (MoHUA)
(D) Ministry of MSME
(E)  Question not attempted

T T Y T AT 2023 - BN Yt A UE T Helaor e fepan? (e & e suge feehe )

(A) e Ik A (B) WA HAEH
(C)  TETad iRyl wE HEe _ (D) UH.TH.TH. 3. {Eed
(E) Ifuia vy
16  In Olympic 2024, India was at spot in the medals tally?
(A) 37® ®) 91
© 1" D) 71

(E)  Question not attempted :
A 2024 T @ qeh aiferpT #__ FIH W@

A) 379 B) 913
© 173 D) 71§
(B) gaf@us

17 Which state hosted Outlook Planet Sustainability Summit and Awards-2024?
(A) Goa (B) Tamil Nadu
(C) Rajasthan (D) Maharashtra

(E)  Question not attempted

T U9 7 ST Wi grAfaferdl Aiie US 31argd 2024 Y dsar A7

(A) TiET B) afteTg
(€) Ts®H 4D)  HETIY
() gERawH

Al15] {5 5 [PT.O,




18 Choose the odd one out.

(A) Greece M (B) France (j:i
(C) Korea o (D) Poland T
N
(E)  Question not attcmptcd{; nf :,.3
o =1 == R - . 1}_
AC) = o (D) U %
(E) Iruiawy Lg .._,,
19  Ifin a certain code, O is written as L, AasH,Mas I, S as F,NasT,EasS,Ias A, Pas Gand Cas E, then how wil|
{ ¥
COMPANIES be written in thdt'¢ode?
RN FETOR L AR ML SH F,NRIT,EH S, IHA, Pas‘quarcsﬁE%f@T-m% AT
COMPANIES ! &3 ferar simarmmg N
, (A) ELIGHATFS o —~B) ELIGHTASF v
' (C) ELIGHSBSF 0 (D) ELGHITASF Cﬁ
; (E)  Question not attempted -3Tgxia ¥4 F:}
' li‘z Ty

20  Take the given two statements f5'be true even if they seem to be at variance from comm(‘S_fy known facts, then decide
which conclusion would follow on the basis of given statements?

Statements I : No Apple is Bdnana. )

Some Bananas fré grapes. -

Conclusion II : 1. No Apple a@‘érapes. Y

II. All Applesme grapes is a possibility. ™

In light of the above statement‘vzhoose the most appropriate answer from the options B\?en below:

it (A) Both conclusion I and IH%llow . (B) Neither I nor II followsa
. (C)  Only conclusionI folloWs) (D)  Only conclusion II follg'g/-é.
(E)  Question not attempted™ o |

mmmamﬁﬁmm% T @ T T a3 R e 9 9, ST 98 aF S 8 e
ﬁﬁéﬁqmaﬁﬁxﬁmaﬁﬁmﬁww%ﬁ M}

wUTL: A, FaAT R O
5 ¥, S 81 0
frowd 11 : LA o, :ﬂg%’i v
IL wfi 39, mﬁ%uﬂm%x 0
T A mﬁﬁﬂ%ﬁaﬁﬁm‘iﬁ%mmm;ﬁ Q2

(A) 2 e 1 3R 11 SEE Ea #)

) ARSI aqgatwm
©) %ﬁaﬁmlmmada?%l 5 Tk

(D) Wﬁmﬁélmgqmw%l

E 94 _
e M "
(]
21 . Aueop Wi Mump, “YeSterday;]I defeated the only brother of the daug ghter of my g brm&%othcr“. Whom did Anoop

defeat? it

(8} Gen '—..H (B)  Cousin ..\i

(G, Broltiet (D)  Father 0

(E)  Question not nttcmp:q:g o

ST T &, e %ﬁﬁaﬂ%ﬁ@%msﬁmﬁmwst%amz d.

(A) 3“:% B) =R i
© ‘m;m D) s
(E) a4

F b p.1.0:
at1s] & = gl



22 There are five friends — Sachin, Kamal, Mohan, Arun and Ram. Sachin is shorter than Kamal, but taller than Ram.
Mohan is the tallest. Arun is a little shorter than Kamal and a little taller than Sachin.
Who is the second tallest?
(A) Kamal (B) Arun
(C) Ram (D)  Sachin
(E)  Question not attempted
i IR 8- Wi, e, HITH, 37601 31 ) WiRrT o1 e el & BT R, TN F w157 81 6ie 1 %7 T e 81 S0 H

e FAA § NS HA & AT A drerarer
2 T O T SR &7

£8)  wHA (B) 3
© W (D) @i
(E) Tgaia sy

23 Which of the following words will come second in the English dictionary?

mmﬁﬁmﬁf@ﬁﬁﬁﬁ?mmgﬁwwm

_(A) Maternal (B) Magnify
jﬁ) Magnetic (D) Magical
(E)  Question not attempted / %ﬁ'ﬁﬂ'gﬁ
24 Arrange the following States / UT of India in descending order according to their population density (Census 201 1).
a. ‘Kerala b. West Bengal
i Delhi d. Bihar
T FrerRia Tt / Sesafi S29 Y 2011 Y SHTUAT 3 SR T SHEEAT S 3 AT ST (F24) 9 A
Tud HIfs) :
a. e b. afi dme
c. (oot d. forer

Choose the most appropriate answer from the options given below:
e g g fahedt 7 § waifies Juge SHUY:

4A) ¢,a,d,b (B adb,c
(C) a, d,c, b (D} c,db,a
(E)  Question not attempted / STTAT T

25 Given below are two statements:
Statement (I) : Alluvial soils contain an adequate amount of Potassium, Phosphoric Acid and lime, which are ideal
for growth of sugarcane, paddy, wheat and other cereal and pulse crops.
Statement (II) : This soil contains enough quantity of Nitrogen.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is correct but Statement (I1) is incorrect.
(B)  Statement (I) is incorrect but Statement (11) is correct,
(C) Both Statement (I) and Statement (I1) are correct.
(D)  Both Statement (I) and Statement (IT) are incorrect,
(E)  Question not attempted
= &1 == fag e &
A (1) . STt firgt i werty wraT i dverar, wiew e uftrs S < o S &, S, 9w, 18 3 31 STt 37 Terey
waei % IcaTe & fau wree 8
mer (1) : 39 forgt vty e 3 Arggor TRl sidh 81
ireR Ul o AT i, e i e feredl # @ waffm sug S|

(A) o (1) T8 & SAfer e (11) T 8 (B) m(l)wéaﬁﬂmtll)ﬂfb‘f?l
(©) U (1) SNTHU (11) At Wl B D) R (1) 3T e (1) @ e 8
(B) ergaf@ s
Al15] £ 7 [P.T.O.
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26 Among the following places in Rajg;han, where is the Pichola lake sit.uated y )
(A) Bhilwara N (B)  Karauli -
(©)  Udaipur ok (D)  Ajmer N
(E)  Question not attempted : 1
fasfte (Rraem) shter, o 3 i & ey o i et vl 82 o0
(A) Tt in (B) el o
AC) SR ' . (D) T Ty)
(B)  orafawa A -
27 From which generation of computeiithe use of Integrated Circuits (IC) started?
(A)  Third Generation ) (B)  Fourth Generation )
(C)  First Generation 3 (D)  Second Generation o
(_E) Question not attempted ,‘..ﬁ QY
wﬁﬁﬁ%ﬁ%nﬁmﬁrﬁ.m)ww%w@ i
@) i A B Hefd oe
© ek digh i) (D) - el i o
(E) gaf@wsy ek Ty)
28 Which of the following options is arranged in descending order of their storage size? i
@hﬁq%m%mﬁmﬁ%mﬁmwmﬁﬁmﬁ)mﬁaaﬁmﬁ?
(A)  Bit,MB, Nibble, KB ¢ (B) Bit, GB, KB, MB 8
§©)  MB, KB, Byte, Nibble 0n (D) Nibble, KB, MB,GB ()
(E)  Question not attempted / STgafd W O
! e
29 PARAM is a series of %gcmbled in India by C-DAC, Pune, o~
(A)  Micro Computer 0 (B)  Mainframe Computer g:}
(C)  Mini Computer gl (D)  Super Computer Ty
(E)  Question not attempted : S
™ _ Eﬁf@%@ﬁ%@%ﬁ%ﬁﬁ,gﬁmmﬁmﬁ%mwn ot
(A)  HTEH FHH Lf:' (B)  Ahw dhurex
© et - @ D) FREE M
(B) rguiaus ™ Q
. i o
30 Ramganj Mandi, also known as cdfiander city, is situated near which of the following citiesd
(A)  Sriganganagar i (B) Kota ) O
(C)  Jodhpur 1) (D) Udaipur QO
(E)  Question not attempted Ty
T e, ﬁfﬁuﬁmm%mﬁmm%ﬁnﬁﬁgﬁﬁﬁmﬁﬁmm & ot filrg 0
(A) i )  4B)  @Rr
(€) SR ) (D) SR ™M
(E) wiafawy ) Q
3 ; i .. 5"‘? o § : ? i 0\3 b R
1 Which of the following districts ‘o Rajasthan is famous for the highest production of \heat in year 20
the state ? H.J ;_‘{'}
(A)  Bundi 5; (B) Kota o
(C)  Sri Ganganagar o (D)  Jaisalmer Ty
(E)  Question not attempted " -
TSTEAT % e 3 @ e foren and 2022.23 i it i & wratfiven seare ¥ g wivg &
(A) & (B) e
(C) e (D) Staeme
(E) qafauy
Al5) 8

of Rajasthan?

3"?,’)3 i

[ P.T.C
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33

34

35

36

37

38

Which among the following is not an Agro based Industry in the state of Rajasthan?

A)  Iron and Steel Industry (B)  Cotton Industry

L (D)  Rice Mills
E) Question not attempted

o osd i R friaa # &  ar v iy s sem i &
4A) g ot !?fE?ﬂ"T ﬁ

(B) @t azﬂw ]
(C) = firet ;f (D) maaﬁéi
(E) IGERADL o

Who declared “ﬂlt} status of women should also be raised and women sHould be trained to take a larger and more
intelligent intereStin public affairs” at the Maharashtra Provincial Conféfénce in May, 19287

(A)  Subhash Ghandra Bose (B) Bhagat Singh

(C) Mahatma Gandhi (D)  J.L.Nehfy

(E) Qucsnon not attempted

RISy e Frer 7E-1928 & e siwory ot ﬁ%ﬁﬁﬁ@%méﬂm@maﬁqﬁmﬁﬂnﬁa&m%gﬁ
ﬁmﬁmm%ﬁéﬁ%%@mﬁmmm

AA) mTrﬁrEFs\'a;T{T (B) qrmﬁm*

(©)  were it (D) =.Ta. %%1«

(E) ﬂiﬂﬁﬁw

In 1859, ‘Rellef i;Lucknow painting was painted by ;i’i

(A) Oubam , £ (B) Havelock~

(C) Thomas J‘; orjes Barker (D) Campbe]l y

(E)  Question'not attempted §
e g 18591“1‘ Pt 37 TEHS 77 (painting) SR T oty T

(A)  fm ®B) e
(©) afmash:gglé?t (D) e (1)
(B)  Iigaia &y Vo) |
The University 5_'_E"i‘iucati0n. Commission was set-up in the year N under the Chairmanship of Dr. S.
Radhakrishnan, (3 =1
21, U@, T sreaarar § farafiamer fm s ﬁmﬁﬁaﬁﬁgﬁ?
(A) 1951 iy AB) 1953
(C) 1947  o=f (D) 1948 L)
(E)  Question not attempted / Glfffﬁﬁ T -4
Sewan, Dhaman(and Karad are ; “
(A) Types of@rasses (B)  Types of Rajasthani painting forms
(C)  Types ofifolk dances (D)  Desert soils
(E) Queslion {nat attempted 5 {‘Ri
gad, au9q I - ;
4A) m%% (B)  Uster e () F9 & R
(C) o Fcd fHyan (D) W)
(E)  3Iuitd 94 - _ u:
ﬁmﬁfiﬁﬂﬁaﬂﬂmwﬁhﬁﬁ? 5
LA) HEH (l_i) fama o
J© fash (3 ®)
(B) T ﬁ* e
ﬁmmﬁawmqu“fmﬁﬂﬁ =
(A) AT @) @ o
4C) IS gy (D) @ ¢y
(B)  OTIaRa Ay Te!

: |
A15] 3% 9 T [P.T.O.
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J Assembly.

! two statements:

Statee fiv- & : Most of the rulers of the princely states after Independence of India were averse to join the Constituent

Statement (II) : This response of rulers of the princely states meant that after independence there was a very real
possibility that India would get further divided into a number of small countries.

In light of the above statements, choose the maost appropriate answer from the options given below:

(A) Statement (I) is correct but Statement (II) is incorrect.

(B)  Statement (I) is incorrect but Statement (II) is correct.

(C) Both Statement (I) and Statement (II) are correct.

(D) Both Statement (I) and Statement (II) are incorrect.

(E)  Question not attempted

Hr=r St e feg e &:

U (1) : WA 1 TN o6 A1 AT o6 %3 7T S @ i e o feg 2

e (1) : e TaTST i 39 STfehan ot 31 o f36 Tar % w1e U St wvra oft o6 e w5 e 3 | e swam
ST Al & 3TTelieh 1, i fg e feredt § & o 3uge SO

(A) = (I) T & AT o (11) Tera 21 (B) W (T) e & AR e (1) W 2

(C) &uA (1) T HMA (1) SHT |et 8 (D) A (1) 3T FHeA (1) ST & 7T 21

(B) rgaiawd

40  Where is the archaeological site of “Civilization of Balathal” situated?
(A) Hanumangarh (B) Ajmer
(C)  Vallabhnagar, Udaipur (D) Mount Abu, Sirohi
(E)  Question not attempted
SIS TIAT T qUA Tt et for £2 )
LA) BTG (B) ST
(C) TEAVR, IR (D) W 3T, ol
(E) SIgafia g™
41  In which year Prithivi Raj III defeated Chandel Ruler of Mahoba?
(A) 1191 A.D. (B)y 1192AD.
(C) 1181 AD. (D) 1182 AD.
(E)  Question not attempted
o e & qeaft TS 111 3 HETe o YTHs St shl ST A2
(A) 1191%. B) 1192%.
(C) 1181%. M) 1182%
(E) 3gafta 94
42 “Saheliyon ki Bari” a popular tourist destination in Udaipur was built by
(A)  Maharaja Surajmal (B)  Maharaja Udai Singh
(C)  Maharana Shambhu Singh-I (D) Maharana Sangram Singh - 11
(E)  Question not attempted
TN U Giig Tdedh Fae “qefordl i argr e g e v |
(A)  wers greme (B)  Wewwn 337 fie
(C)  wemwn iy fife-1 AD) W wam fEHE-1
(E) wqaf@ug
43 In the sentence given, replace the underlined words, choosing the most suitable idiom from the options below:
He was arrested without being given a reason,
(A)  atodds and ends (B)  outand out.
(©)  overand above ' () for no rhyme or reason
(E)  Question not attempted
Al5 ] ﬁ}; 10

-

[ P.T.O0:
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44 For the given sentence, choose the most appropriate answer from the options below:

The language and style of a formal letter is-

(A) very fricnd{x-} _#B)  polite and 13 ;}:f
(C)  lengthy ¢ (D) chatty -
(E)  Question notattempted &y
" ¥4
45 For the word givefi:in Hindi, choose the most appropriate word in Engllslk_from the options below:
sramedfia ) €3
(A)  unacceptablé} (B) untenable {{}
(C) tenable = (D)  acceptable y-
(E)  Question not attempted
") 58]
46  Match List-I with{List-II 3
List-T (Chhatri) List-II (Placégs)
a. Chhatti of Sawai Jai Singh L Alwar g
b.  Chhairi of Musi Rani ' II. Ramgarh {1}
c. Chhatri of Gopal Singh III.  Gatore {3}
d. Sethon ki Chhatri IV. Karauli (£}
-1 o are -1 1 firer hifsg -t
-1 (@) -1 (FaT)
b. o EHY Al L Ty
c. Tﬁﬂ'i?fﬁ:lﬁaﬁf@?lﬁ II. &R m;
d. ¥ ﬁ IV. et H
Choose the most apgroprmre answer from the options given below: 34
i faq e faepedtal & waifae Iag® Sa g
(A) a-IV,b-Mlyc-1,d-1II B)  a-TLb-Lo-IV,d-II
(C) a-Ib-ILedI,d-1V (D) a-I,b-Ledlv,d-II
(E)  Question not attempted / 3TTTRT T4
. 3 A )
47 Who is famous as ‘Wagad Ki Meera’?
i (g0 ]
(A) GavriBai (B) Panna Dhal :
(C) RanaBai " (D) Kal'maWﬂtl,‘ :'
(E)  Question not attempted é? 5
g i Hir aamﬁwﬁﬁ%‘? ey
Ay A B) wEEE
{C) UIE I i:j (D) hHterll w;
(E) igald s
o 4

48 After Indt,pcndcnwjhrcc states in Rajputana acceded to the Indian Union ;hr;)ugh the-

(A)  Instrument,ofjIntegration (B)
(C)  Instrument ofjObligation D)
(E)  Question npt attempted

an < T 5 T o 3 ff st b et e i e

A) T S e (B)
(©)  TugH i piifeeri (D)
(B) Irgaiaux

Al5] | 11

Accession {n%tmmcnt League
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%@WWWI
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49  Which part of the telephone device accepts voice and sends that information in the form of electromagnetic moves?
(A) Dialer (B) Mouth Piece
(C) Receiver (D) Cable
(E) Question not attempted

TR ST 1 & I H AT R S AT T T H AT € A I AT AT Forega e qiit o w9 7 Srar &2

A) S (B) wsudE
© fdn (D) Faa
(B) rgaiaws
50  Which one of the following is not the mode of Social media?
(A) Broadband (B) Blogging
(C) Facebook (D) Twitter

(E)  Question not attempted

frferfaa § & =9 a1 Groer i 1 omem @e) = 20

_(A) sitedz (B)
© WwEgH ® fE=x
(E) sAgataw '

51 ‘Who of the following space travellers born in India died in space shuttle of Columbia during its returning?

(A) RituKaridhal . (B) Sirisha Bandla
(C) Kalpana Chawla (D) Sunita Williams
(E)  Question not attempted B
B & e & w1 ft, @ o siafeer it oft R arh 3 o s F siaker 7 # qg BT ot
A) fg=iua B) Tafwmsicen

C)  FHeuAT = TEer (D) g fafea
(E) eraiaus

52 Given below are two statements:

Statement (I) : Gram is grown as “Rabi” crop in Rajasthan.

Statement (II) : Oilseeds are grown both in “Rabi” and “Kharif” seasons in Rajasthan.

In light of the above statements, choose the most appropriate answer from the options given below.

(A)  Statement (I) is correct but Statement (II) is incorrect.

(B)  Statement (I) is incorrect but Statement (II} is correct.

(C) Both Statement (I) and Statement (II) are correct.

(D) Both Statement (I) and Statement (II) are incorrect.

(E)  Question not attempted

= S A Ry &:

AT (1) : =T TSI Tl Fe & w9 S S )

YA (I1) : fadTed Terea™ § T 3R @l SHT draw & Imesmy 3

IHI Ferdt o Aeiter 8, Al faq e et & & watfre suge seog

(A)  Fu (1) TE 2 AR e (1) 7o 21 (B) T (1) 7T SRR e (I1) Tt B
(©) @A (1) 3L (1) ST @ 8 (D) e (1) 3R F (11) 2 e B
(B) wgafayd

53 Which of the following taxes is not levied and collected by the State Government of Rajasthan?
(A)  Road/Vehicle Tax (B)
(C)  Taxes on Agricultural Income (D)
(E)  Question not attempted

ﬁmﬁmﬁﬁﬁwmmmmmmmaﬁﬁaﬂﬁﬁmmﬁ?

Income Tax
Taxes on land and structure

(A) GSFHMEET & B smEw
©) Fhrsmmma (D) sfiy 3w TR
(E) Aquf@us

A15] £ 12
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T

54 Which of the following is not a salient feature of the Indian Constitution?
(A) Provisions drawn from various sources (B) Provision of Dual citizenship
(C) Lengtheist written Constitution (D)  Universal Adult Franchise
(E)  Question not attempted
Freferfad o & i Sl wfiT Y o ge i € 82
(A) fafirr gt & foag ™ gEue 4B) <l ATl i a9
(C) T o fafaa d@faam (D)  aTEhifires TaER HATTUHR
(BE) gaiays
55  Who describes Prime Minister as “Primus inter pares” (First among equals) and “key stone of the Cabinet arch™?
(A) H.J. Laski (B) Munro
(C) Raunsary Muir (D) Lord Morely
(E)  Question not attempted
e ST Tt Y T S e (ARl T o e are) i <SR 3 v whr & w9 A afofd
(A) TS EEhl ‘ B) T
©) TR (D) wREHE
(E) Agaia s
56 ARcredfigmeE:
T~ 1+ ST RS T ET e ot & e S ST et T A e & T B
o - 11 ; TR et ot et et o gt 1 e & o ST aved e & e
I A el & Frefafad Rieredi 3 & waifars 39gw W -
(A) FU 1 T &, Fohe] e 11 38T € | (B) oA I3E g Fod I @
(C) w1311 9w E (D) & 13 I ST 378 €
(E) - i 9
57  ITFRHE’ 1 EwE famE Em-
AA) AT H gET R (B) AT AL
(C) @ EET (D) e AT
(B) AJaRa g
sy Preiflad § 4 e wreat 3 i Soa AT 2
a. 9% b. W
c. WER d.  vwer
€. Tge '
A1 o e Rt # & wratferes 3agw ST :
(A) FaA a, b3 ¢ (B) aﬁ?fb,ciﬁﬁ(d
(C) Fadc,d3fte D) Faa,d3iTe
(E) Cﬂ'@ﬂﬂﬁgﬁ
59 Name the left bank tributary of the Brahmaputra River?
(A) Burhi Dihing (B) Sankosh
(C) Subansiri (D) Kameng
(E)  Question not attempted
SR 1 % AR a2 Y e T AT AAL -
A) TR (B) HHIY
(© gkl (D) W
(B) Igaf@us ;
Al15] £5F 13 [P.T.O,
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60

The Western Ghats are known as

‘Sahyadri’ in which state?
(A)  Tamil Nadu

(B) Kerala

(C)  Karnataky! (D) Maharashtra '}
(E) QuestioQot attempted Q
m“‘ﬁﬁﬁ?ﬁhﬁ‘m’%w%mmﬁ ‘:j
T < (B @ o
©) e (@) wwE
®) SR ER £y
4 r
61 Which generation of computers uses Vacuum tubes for Circuitry and Magnetic drum of Memory?
(A) Third gelt%eiration (B) Fourth gencraiiipgl
(C)  First get%ir‘gtion (D) Second generatign
(E) Questio;ev {not attempted o
PO Y H] iy 3 ittt ﬁﬁ%@ﬁﬁﬁ%mé@aﬁmwg@w@
A dieliigh B) G
(©) et digtsy D) Twd
(B) igaie@uy 1
4 4
62 A set of wires which carries a group of bits simultaneously, that is, in parallel, and has an associated control scheme
is known as : (¥
(A) Bus . (B) Registers ;
(C) wires 4V (D)  data cables £
(E)  Question.not attempted yed
mﬁwwm@j%mﬁq&%@waﬁﬁmiwmﬁ, AR u g PR 2T 3 w9 3 S s
& . &3
(a) =@ B) TR Te
© @ i D) I
(E) Fgaiawe
v I ot : 38
63  The name of thg,j}mt Indian Satellite is : yay
(A) Aryabhét.'"tt:; (B)  Kalpana ;:j
() Bhaskar_;: 1 (D) Insat-I _” i
(E) Questiog.}ipt attempted 0
ST STl ST 67 A 2 &
(©) Wl . @) TR !
(E) rgaf@ud -
) (Y)
64  Which fair was'started by Kachhwaha’s to cherish their victory over Chandra®Meena?
(A)  Khalkani Mata Donkey fair (B)  Diggi Kalyan ji*fair
(C)  Bhartrhdri fair (D)  Pushkar fair
(E)  Question’not attempted Q0
Wmmﬁﬁhmm%mq'salalmaﬁq—mﬁmﬂl&ﬁﬂnw) )
AA)  werf Hra g der ®)  fenft arwemmor it e
(©) wiefeirar ®)  gerder
(B)  ¥rgufd 94
A1S5] £ 14
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65 Who, amongst the following famous artists, has represented Rajasthan in the Bharat Utsav in ‘Bahrupia Kala’?
(A)  Amar Singh Rathore (B)  Jai Singh Rathore E
(C) Jamna Lal Bhatt (D)  Janki Lal Bhand
\ (E)  Question not attempted

Freferfaa o @ fore wRrg SR T WRa Ioud 1 ‘Sesfar s J TeeaH #1 gfafifiue frr

S ®» e g vets : B) wfiewes
\ (C) AT ME 4D) SR AT Wig
| (B) oTgaRa
66  When did Netaji Subhash Chandra Bose proclaimed the setting up of the provisional government of free India at
Singapore?
(A) 23" October 1943 (B)  24%October 1943
(C)  21% October 1943 (D) 227 October 1943

(E) Question not attempted

Sareft g =iz s 3 R i e i s srer (Sifarsirer) SRt St T i Ern e aria @A o

UOKA) 23 IEER 1943 (B) 24 1&g 1943
(C) 21 Hage 1943 (D) 22 3FE 1943
(B) Fgaiawd

67 Choose the correct statements from the options given below:
The British Parliament passed the Indian Independence Act on July 05, 1947.

This Act was based on the Mountbatten Plan.
The Act got royal assent on August 10, 1947.
d. The Act was implemented on August 15, 1947.
Choose the most appropriate answer from the options given below:
(A) a,canddonly (B) b,canddonly
(C) a,bandconly (D) a,banddonly

(E)  Question not attempted

oy T foreedi & @ HE U 4
a  TfewrEEEY 05 SO, 1947 I WA Tt rfrfrrm arfe fam

b, 7 STRIfIEE WIS S ot AT 9T ST o
o oyfufrm Y 10 STTE, 1947 @ e wHfd STH 6
4. srtufiem (@) 15 AT, 1947 @t @ & fea am

o o

1 fw o oreecit & & wrarHires IUgE IE:

(A) Fada,cIRd B) eerb, ¢ Hd
O  FAda, b3 , (D) Faera, b3fitd
(E) &igafaud

68  Which country’s armed forces were awarded the coveted *Golden Owl’ award for their outstanding performance jn

Dec 20237 (Choose the most appropriate option from below)

(A) SriLanka (B) Singapore
(C) India (D)  China

(E)  Question not attempted
o 31 3 Ty aelt A frdat 2023 § 39 I vy #g I lesT A e & gafeea R @ Fer i g ey

39 forea ) ‘
(A) i B)  feimge
AC) o . (D) =
(E) @raiau4

Al15] 5F 15 [P.T.0,
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Who was appointed as the first woman Chief Justice of Uttarakhand High Court?
(B) Indira Banarjee

(A) Hima Kohli
(D) Ritu Bahri

(C) Ruma Pal

{Ii):r') Question not attempted o~
meaﬁwﬁmg@mﬁw o forges fopart T &2
AA) fomm sreedt B) ¥
(Qq TI ‘ (D) fl'ggiz;l?ﬂ

(R TwHa o

\\EE?:II one among the following is a “Fossil Park™? o
(AF ! sariska (B)  Rifithambhore

&1 Akal Wood (D) Keoladeo Ghana
(E)  Question not attempted :

ﬁmﬁiﬁaﬁﬂaam.mwnamwﬁ'%? "
Ay afe (B) TRk
Q) FFETE (D) #{ﬂ'ﬁam

(B) STIaRa il

71 \\E‘uch of the following statements is not correct about Sahariya tribe of Rajasthan?

(;h'; The chief of the tribe is called Tapara. -
(B) | They worship several Gods and Goddesses, but their main'-gad is “Behru Bharani”.
[

(5)4 The habitat of Sahariya is South-Eastern Rajasthan, that too

Baran district.
(D}’) They have “gotra” like Chauhan, Dodia etc. g
(B) Question not attempted . : By
ﬁa@ﬁﬁﬁﬁaﬁﬁmmmﬂaﬁmm%aﬁﬁw g8
(A) T TSR 25 TfEdT T Tt FET S 2l -
®)) 3 o 2t T STt 1 O S 8 R o 98 3 s WA A

limited to Shahabad and Kishanganj tehsils of

mwﬁwm-ﬁmﬁ%aﬂtagﬁw%%@mmaﬂtmmawﬁm%l

(3] 5

(%g =i e, Sifear 7 S i g 2 ,

(E), Smutasd li"f
i

For the sentence given, choose the most appropriate answer in the passive voice from the options below:

72
Myrsister baked a cake. ] en
AAYS A cake was baked by my sister. : Cl;
(B)y A cake was being baked by my sister. g e? o
(G)| A cake had been baked by my sister. .
D)y A cake is being baked by my sister. Ef:‘;
(Eb Question not attempted s

L( ) . .
73 Comiplete the given sentence choosing the most appropriate word ffom the options below:
Mgz rother is in the Indian Foreign Services and can speak luany-*!aﬁguagcg;_ Heis a

(A)) Philatelist AB)  Linguist
(Qy Pessimist (D) I’Lill'yiv_lot
-

By Question not attempted

v ' N
74 Cﬁ' plete the given sentence choosing the most appropriate word from the options below:
Sﬂgcmarkcd that she annoyed with him for his lack.af sympathy for the victim

@7 will feel ®)  felf)
(E) " Question not attempted il
Al5] 16

[ p.T.0:


https://t.me/rsgonline

5 Which of the following are two cash crops of Rajasthan?
(A) Bajra and Coriander (B) Barley and oil seeds
(C) Cotton and Tobacco (D)  Wheat and Rice
(E)  Question not attempted( V') '

Frefafiaa & & #9 € TS @ @) wad wadt 8

(A) e it ufan o (B) st 3 foreres ™)
) T SR TR vl (D) ¢ sicaEEa -
_\(}3) ITgafa w o0 N
¢S L
76 Indira Gandhi Canal ends i in \ylu!ch of the following districts of Rajasthan? f“'r;
(A) Bharatpur (B)  Udaipur L
v L b
(©)  Jodhpur (D)  Jaisalmer Te!
(E)  Question not attempted i
sﬁnmﬁwﬁmﬁa{ﬁaﬁﬂtﬁéﬂq%ﬁmﬁlﬁﬁmﬁ?ﬁﬁ? '
(A) AR o (B) 2y v
(C) S {"“-*-] (D) S 5...1,.’
(E)  3¥gia st e ot
77  Which city is known as ‘FoodBasket of Rajasthan’? T
(A) Bikaner Ly (B) Ajmer e
(C) Alwar 3 (D)  Sri Ganganagar oy

. ¥
(E)  Question not attempted : i
ToFE STET ST “TSTEAT Sl @1l 216 & ©Y9 3 S(HT ST 82 :

(A) SR M (B) IR
(C) TR ) (D) TR "
(E) rgaftaws {“"%{ ":
78 Pradhan Mantri Krishi Si mchat:;fee Yojana (PMKSY) was implemented in Rajasthan fromn the year
Wﬁﬂmﬁmﬁﬁa@mmﬁﬁ) o & S bl TS offf
LA 2019-20 ,ﬁ (B) 202021 0
(C) 2015-16 (D) 2017-18 o
(E)  Question not attempted Y, Wﬁﬁ - iﬂ
79  Rajasthan Agricultural Researéh Institute is situated at which of the following cities ? )
(A) Jaipur &) (B) Mount Abu r
(C) Jodhpur o™ (D) Udaipur :—:
(E)  Question not attemptedr1 ;‘__‘"t
T i ST wear e H & o e e 22 N
(A) SEH o (B) WIS AT ‘( =~
AC) SR Ly (D) SER 3
(E) ZFdiE 94 vl :?}7
80  ‘Deputation’ 1% 1 fedt ammTd o3 - v~
(A) fmewvea fgfe o> (B)  famewvew /
L > ) g )
%) gt 94 4 ‘.‘L‘J
0 N
81 Freferfad i & «fefm aramdt s a8 i
(A) T ERIH 2 LN (B) G senfewd 00,
C) TEEtamufefidl 4D) e amf semEn L0
(E) 3¥guftd 9o ;2

A15] £ ' ' 17 ' [ P.T.O.
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83

(B)

(C) d@raET
(B) rgaia e

A group of girls stands in a single line. One girl is nineteenth in order from both the ends,

in the class?

e &1 "eT

4D) fR=wedm

L]

/
/

How many girls 7’2: ther

ST B O TR o e B g B1 AT PR 8 O ST 19 9 5 5 G 1 2t i ot v o 8

(A) 35 : S'B)
© 40 (D)
(E)  Question not attempted / STFxRa ¥4

37 /
38 |

84  Choose the odd one out.
(A)  Aggregate (B) Accumulate
(C) Congregate : (D) Disperse
(E)  Question not attempted
[EEEEaEerE R
(A) dwfea (B) @R@EET
(€) THFEAF D) T e
(B) Irgaf@us
85  The perimeter of a rectangle is 90 m. If its length is twice its breadth, then its area is:
T 3T 6T THATT 90 m B1 e 3ehl wAvaims =ers & gt 2, ot gaeh ot 2:
(A) 460 m’ (B) 420m’
(©) 450m? _P) 380m*
(E)  Question not attempted / JITANA T2
86 The average monthly income of ‘A’ and ‘B’ is % 6,000, that of ‘B’ and ‘C” is Z 5,500 and that of ‘A’ and ‘C’ is T 5230
What is ‘A’’s monthly income?
A 3i B #i FHrad =R 3719 % 6,000 B, B T C ) sitaa ik 311 7 5,500 30 A 3kt C £ 39k i 3T
75,250 2, a9 A <l HifteR TR T St .
54!\) 5,750 (B) 6,200
(C) 6,250 . D) 26,450
(E)  Question not attempted / STTTNd T4
87 = ‘A’ borrows a sum of ¥ 2000 from his friend ‘B’ on 31 December 2011 on the condition that he will return the samé
after one year with simple interest at 8% per annum. However A’ gets into a position of returning the money 8 '
July 2012, How much interest amount he has to pay to *B’9
A w1 g B 8 31 fommart 2011 1 % 2000 IUTC S & fireeh 0 & o g e e e 82 s weqycor srer & 38 A
A 2 A A 36 TRTET | JATE 2012 Fr 9w a7 ¥y ) s 3 B Y Rt st 3 g2
(A) %100 B) =120 -
© 80 (D) =90
(E)  Question not attempted / Nﬂﬂﬁﬂﬂ’.‘l
Al15] 45§ 18

[P.T.0
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82

89

90

91

92

Rakesh spends 80% of his income. If his income is increased by 14% and saving decreases by

be percentage increase in his expenditure?

TR STT 3T T 80% W T 1 AR It oM 14% & wg el § WA 15%

wfirra gfx €fie ) |

LA 2225% S?J eyt (B) 1i25% 1

© 20% (N : (D) 21.25%
; i

(E)  Question not attcrg{{}lcd / gaRa w 3

9

Which of the following iéﬁat a web browser?
(A) Opera ¢ .! (B) Gmail
(C) Mozilla Firefox (D) Safari
(E)  Question not attempted
freferfea & Fea S e
(A) N 4B) S
(C) e wraHEg (D) EHH
€ omafayx O
% |
Which of the following i_isifot a medicinal plant?
(A)  Corchorus capsularis (B)  Ocimum sanctum
(C) Emblica officinalis . A (D) Curcuma longa
(E) Question not attempted
frafafaa 7 @ -9 aﬁﬁ%ﬁ!r e e 22
(A) m?za?ma;qganﬁa _____ AB)  3femH A
(©) vt SERARE (D) FFAT TN
(E) SAgai@yd (=
i}

Blue Revolution in Indiafﬁ?és launched during the period :

(A) 1985-1990 (B)  1990-1995
(C) 1975-1980 38 (D) 1980-1985
(E)  Question not attempted

7 5 <fcft wifer P areraiter o e 61 7 o2

(A) @11985-1990 AB)  T1990-1995
(©) @71975-1980 (D) W 1980-1985
(B) wafaga H

In which of the foilowiné,.f{ajasthan is the largest producer in the country?
(A)  Wool ) (B) Tea

(C) Wheat [ (D)  Rice

(E)  Question not attempted
W‘ﬁ%ﬂﬁﬁm%ﬁaﬁﬁﬁnﬂmi%‘"%wm sy 2

A A pae (B) <™
0 T 'y O e
(B) i@y ?__'3

AIS] 3y 19

ﬂgaﬂﬁ&" '
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93 Which of the following dams of Rajasthan is for both irrigation and Hydroelectricity? (Choose the Most

option from below) appmp“aﬁ
[ (A) Meja Dam (B) Jawai Dam
[ | (C) Ram Sagar Dam (D) Rana Pratap Sagar Dam

(E)  Question not attempted

e 3 e o ey rter & e i afte st frg 2t 6 R v R o 82 e vy

forerea ) | Rk

(A) WSy (B) T Y

(C) THETREY AD) IO YT WO 1

(E) ogafaww

94  Vergheese Kurien is known as the father of which revolution in India ?
(A)  Green Revolution (B) Red Revolution
(C)  White Revolution (D) Blue Revolution

(E)  Question not attempted
arffer i st wa & forr shifer o <ien % w9 I ST ST 29

JA) ERamifa (B) wied (W) shifdr
AC) A shifer (D) et swifa
(E) rgaiagH '
95 Which of the following is NOT a large scale Industry in India? (Choose the most appropriate option from below)
(A) Iron and Steel Industry (B) Cotton Textile Industry
(C)  Jute Industry (D)  Khadi and Village Industry

(E)  Question not attempted

Freaferfian & & e e & e 2oft 1 e 72 & (Fren 3 & v s R )

(A) ite o geuma Igm - (B) I
4C)  qeETIan C (D) @ R T
(E) 3Igaiawd
96  As per the Budget 2024-25, the fiscal deficit is estimated to remain of GDP in 2024-25.
T 2024-25 T SISO 35 STFAR TSHINI =T 1 2024-25 3 et ] 312 T e &1 A ¢l
(A) 58% B) 4.9% N
(@) 51% (D) 5.5%

(E)  Question not attempted / STTARG T3

97  In which year the Indian Government launched the New Economic Policy of India? (Choose the most appropridl
option from below)

e T o e 3 v o Tl nffen A o o e (fre i 8w
(A) 1990 B) 1993

(G 192 D) 1991
(E)  Question not attempted / JTdlE 9%

I forehea )

98  Who from the following has the primary responsibility of distribution of the food grains in India?
(A) Food Safety and Standard Authority of India (B)
(C)  Bureau of Indian Standards (D)
(E)  Question not attempted

v i et i & wrar & faaor € qer S frgd &

Employee's State Insurance
Food Corporation of India

(A) v wre g sCar it (B)  ffet w6 g sfar
(C) T A HEd™ M) ey @re B
(B) rgaf@
A15] 20 (P10
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Choose the most appropriate antonym of the word “Ancicnt” from below :
(A) Destroy (B)  Modern
(©) Insult. (D)  Rough

(E)  Question not attempted

\
| For the sentence given, . .
100 F given, choose the most appropriate answer in reported speech from the options below:

Ravi said, “My mother is going to her home town.”
(A)  Ravi said that his mother was going to her home town.
| ) Ravi said that his mother had gone to her home town.
! (C)  Ravi said that his mother will go to her home town.
(D)  Ravi said that his mother has gone to her home town.
(E)  Question not attempted

101  Who was the first Lokayukta of Rajasthan?

(A) Justice L.D. Dua (B) Justice J.L. Gupta
(C)  Justice Pratap Krishna Lohra (D)  Justice S.S. Kothari
(E) Question not attempted

TSI o T AT I 47

) feE AR g (B) iRewmsua. T

(C) e WaTT T Sl (D) wIReH TG, HIB
(E) Fguiayd

100 What is the tenure of the Chairperson and Members of the Rajasthan Human Rights Commission?

(A) 5 Years or upto 65 years of age whichever is earlier

(B) 3 Years or upto 65 years of age whichever is earlier

(C) 5 Years or upto 70 years of age whichever is earlier

(D) 3 Years or upto 70 years of age whichever is earlier

(E)  Question not attempted .
memmawmwmﬁmm%?

A) S e a5 e o o o 1 A T T
(B) 3aqm65ar$zﬁama$sﬁaﬁqz'@f€r
© saummatfzﬁanuwm%ﬁqeﬁfﬁ
() 3Wm70aﬁ£rmamiﬁ‘ﬁqﬁ'ﬁ@

€)  srafe uy
ernor of the state of Rajasthan?

Wha s . was the first woman Gov
@) ’::’;i the following was (B)  Margret Alva
© a Rau (D)  Pratibha Patil
amla Beniwal
(E .
) Question not attempted i .

(A) i s (B) Wl srEar
( e by afawrafee
) e frarer
®) i g
= [P.TO.
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104 The state bird of Rajasthan is

(A) Godawan ( Great Indian bustard ) (B) BluelJay
(C) Indian Ro!lg (D)  Peacock ivj
(E)  Question nnt)nncmptcd Gy
TR 1 T T4f 0 1 22 Y
SA) e (3 3R ) (B) e
© ﬂRTﬁlTﬂ?II (D) ®R (13
(E) aagﬁﬂ?mat., .
(F)
105 Which of the follou}mg peaks of Aravali Ranges is the highest? .
(A) Jagra 7 (B) Kamalnath
(C)  Gurushikhar (D) Raghunath garh
(E)  Question nidtattempted M,
Tt e & frfilea Rrad v St S A 22 L
(A) ST i u (B) 9™ £
£)  TERRR D) T
()  37gaia walyy £
&1 L
106 ‘Kalisindh Therthal Power Project’ is located in which of the followmg(greas of Rajasthan? (Choose the most
appropriate option from below)
(A) Barmer (B) Kota
(C)  Jhalawar ¥y (D) Bikaner {45
(E) Question not attempted i3
m?hﬁ'%rmrﬂam“qu@w ﬁmﬁﬁﬁmﬁmhﬁm%(ﬁmﬁﬁmmﬁmm)
@A) = A B) ®E
L) FEEE ‘E"‘_'! (D) =R Zij
(B) g yar) g
L hy 4
107  What will come ird place of *?° s i
" & TIH W HHH] 3 JTI? v
60, 45,32,21,?
(A) 14 poe (B) 1 {7y
© 1 ] D) 12 &
(E)  Question r'!of attempted / STIaIE I !.di
108  What will come msl?lace of *?’ 43
‘9" % T WA W o
Lr i
O |0 O
O d O
G
—(l,)-* ‘.— ? e
v
’i l' &5
(A) £y (B) Q— @A
1y i)
©) o P ( ) 4
' (E)  Question not attempted / {xfd 94
1 Al5] 22

[ P.T.O.
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109 Some symbols are represented by letters as shown below:
%0 Telteh! 1 SFardl gra sitar T @ St {6 i e w2

> | <

+—x+l=
B|G|E[C|[D[A|F

Which of the following expression is most appropriate?

foret & & 3 @1 @i I9g AT 87
(A) 115G 5F8G4B6C3 (B) 15ASE 8C4B 6E 3
(C) 15C15B8F4B6C2 (D) 15B 5G 8B 4G 6F 3

(E)  Question not attempted / STTAT ey

110 Which of the following provisions of the Indian Constitution deals with the appointment and dismissal of the Council
of Ministers?
(A) Article 74 (B)  Article 75
(C) Article 70 (D)  Article 72
(E)  Question not attempted

Frfcfaa % & st wiferem s @ ar yraam wifrafeg it Fraftr s gewra & waw @ &

@) FF=R 4 (B) I 75
L5) TR0 (D) =T 72
(B) rgafaws

11 The Planning Commission of India was formed on

(A) 1% January 2015 (B) 27 QOctober 1950
(C) 26" January 1950 (D) 15" March 1950
(E)  Question not attempted

M % ASET AT HITST bl g el

(A) 1Sl 2015 ' (B) 23R 1950
(C) 26T 1950 ) 159 19'50

(E) 3rafa ux

12 ‘Rape Jagpat Ra Marasya’ was written to mourn the death of which ruler?

(A)  Mabharaja Jeevan Singh (B)  Maharaja Jaideep Singh

(C)  Maharaja Janak Singh
(E)  Question not attempted

O ST T HrET foR e dh e 9w & fe ferelt et of?

(A)  wewTe e fie (B) ORI IRV iy
(©)  wEwT S fiE AD)  SET SR fil

(E) gaf@uy
e [P.T.0,

5| g
-

(D) Maharaja Jagat Singh
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113 Which statements regarding Kuchamani Khayal are correct?

a. Kuchamani Khayal was started by the famous folk dramatist Lachhi Ram.
b Chan ilgiri, Rao Ridamal and Meera Mangal are the main lghayals created by Lachhi Ram.
c. Kucl'ljljnani Khayal is not performed in an open theatre. &3
d In tl-Ls J(haynl players of Dhol, Sarangi, Clarinet and Dholak @rd the main accompanists.
Choose the most appropriate answer from the options given below: v
(A) a,b, and c only (B) a,banddonlyt
(C) b,canddonly (D) a,canddonly”’
(E) Question notﬁlempted ’ 0
Fﬂﬂﬂw#aﬁfﬂﬁmﬁﬁaﬁqémaﬁﬁ? B

a.  HEWUl T UiE A AIeaeR erest T Fr g foRar mar e
b. i, e faver s i s, et o g i e e #
c. eI @ e v A (R § ot 7€ s 2|
A T e, o, mmmmg@maﬂ%‘{‘i
e fer e ferehet 3 & warfferes suges AU gA:

gA) T, b ®) Fab ﬁu
(C) Fadb,c afted (D) Fada,c 3‘!’1‘({3{‘
(E) 3IFaRaw ol ¢l
114 Which part from ‘ashvagandha’ plant is used to make medicines? e
(A) Leaves v} (B) Roots ‘2
(C) Flowers &2 . (D) Shoots fi
(E) Question ndrt*filttempted ;"_5
&) ureta & B wEE
© fz': ' . ®) TERF
(B) ITgaiawsr - o o
115 Natural rubber is a polymer of: PO
(A) Ethenc ' - (B) Butadiene -
(C) Ethylene = (D)* Isoprene g: }
(E)  Question not a‘ncmpted 4
TR T feRaent t?i Giferet 27 . (38
(A) 399 &y AB) A -
(©) shem 1‘) (D) gm0
(E) Al T4 oo v
116  Bifocal lens is used 1d correct the defect of: (Choose 1he most appropriate opl:nn from below)
(A) Cataract {;} (B) Hypt.maetropm
(C) Myopia N (D)  Presbyopia .|
(E)  Question noﬁ ,lcmptcd !-‘)-
e S 1 3ty P & e e g R, R s &2 (R 8 e e P 99
(a) wifmnfiz (B)  ErwwRfEr L)
© Feegfdn. (D) g A (e )
(B) erqaf@ g
Al15] 5§ 24 [ P.T.O:
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117 Complete the sentence by choosing the most suitable article from the options given below:
Please get me ___ umbrella when I go out shopping as the monsoons are approaching. ™M

(A) No Article i (B) an o
(C) the ‘3 (D) a 0
(E)  Question not at:cmpte‘d%‘i -
- ‘1‘ 0
118 Complete the sentence by choos;mg the most appropriate preposition from the optionsgiven below:
I reached the school . ~ _the gates closed. e
(A) by :‘_; (B) from i
(C) later b (D) before
(E)  Question not attempted . ™"
M, o
119 Match List-l with List-1: o
List-I (Words) i List-II (Synonyms) |
a generous -j*i I esteem i{é
b. honour ) II.  ridiculous L.:"?
c.  absurd ii;"i III.  achieve & :
d. accomplish i IV. charitable i
Choose the most appropriate answer from the options given below:
(A) a-1V,b-Lec-IId- I B a-II,b-III,c-IV,d-‘f:E?
() a-Lb-I,c-MLd-1V, (D) a-MLb-1V,c-Ld-I)
(E) Question not attemp(eg-gg i:jg
120 Frer ¥ o o waw gugw frem e g o
(A) = O 7(B) g™ n
(C) 37T i (D) fare 3 .
(E) i = v i
121 Rraam i T, qe, T, Fr, 9r g gu e, et R R g w s dar e 2
(A) I s o B) 5w fE Py
(©) st N D) it bl
(E) wmmRawa i o
0 (4
122 9 g fRg g E - 1)
FAT -1 ;T HTA S a0 R il

FAT-11: % T ITaRT A 2
mm%mﬁﬁmﬁwﬁaﬂﬁaﬁﬁn%mﬂaﬁmwgﬁ

4]
L) FHITAE, Fmﬁmnamar%l (B) wUAIIEAR, ﬁﬁmnmiﬂ
© w1 et g # (D) mlaﬁtnaﬁ?wau
® s
.‘ "'ﬁ.:
123 [fCAT = 48, then MOUSE is ehual o: o
A CAT =48, a‘rMOUSE%Ww%? 1.1‘:
(a) 148 4 (B) 138 v
© 142 . © (D) 146
(E)  Question not attempted / argafa 94
' P.T.O.
Als £ 25 i [
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124  Ranjan travelled 15 km northward, then tumed right and travelled 10 km, then turned left and travelled 20 km, then

125

126

127

128

turned left and travelled 10 km. How far was Ranjan from the starting point?
(A) 35km (B) 45km

(© 30km (D) 25km

(E)  Question not attempted

& ST 3T 15 Feft e e afey e 10 foreft <, 3w am awdf s ggert 20 Freft e, aeqand, 2w
mgsawf;)mﬁad?wammmﬁm%igﬁﬁmﬁgmw
A 35

(B) 45
(© 30Tt (D) 25
(B) rgaiaus
Which of the following is an institutional factor of agriculture which influences the pattern and productivity of
agriculture?
(A)  Chemical Fertilisers (B)  Crop Insurance
(C)  Size of the holding of fields (D)  Topography

(E) Question not attempted

Pt & & R o1 - e s, i SR i TET Y S e

L) Wl I (B) wEe S
(©)  eRer Ff & 7 s (D) T
(B) Saf@wx
‘Narma’ is associated with which crop in Rajasthan? .

(A) Tea _ " (B) Coffee
(C) Jute (D) Cotton
(E)  Question not attempted

T TSI Fi forer woer & grafm 22

A) =™ - (B) @
©) = 'AD) U
(E) fgafaud

Which of the following statements is not correct about the Darjeeling and Sikkim Himalayas?
(A) They are flanked by Nepal Himalayas in the West and Bhutan Himalayas in the East,
(B)  The higher reaches of this region are inhabited by Monpa.
(C) Itis aregion of high mountains peaks.
(D)  This region has well distributed rainfall throughout the years.
(E)  Question not attempted
i s fafary femrera 3 a3 Frer & & 2 a1 e a7 2
(A) 3 afem 3 v femrery aitt g # ver fewrer & i d)
AB) 79T F Iod TAHT G G911 A 2
(C) T I=a wdd firad &1 &7 2|
(D) =8 &7 # ad udeq ot a7t yhR & frafa 2

(E) wqafaug

Duduma waterfall is located in which of the following state?

(A)  Jharkahand (B)  Odisha

(C)  West Bengal (D) Andhra Pradesh
(E)  Question not attempted

= 3 & o s i T ST fer 29

(A) wwEs AB)  sfifemn

(C) it ey (D) HigwRy

(B) rgafawy

A15] 26 [ P.T..
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Read the passage and answer questions 129 to 132 :

_ “Stress” 441

All people have some sfress in their lives. A little stress makes life interesting, afid keeps you on your toes.
However, too much stress can pciiunhcalthy. You may find your life becoming stressful Whenever there are changes
in your environment, in your rsilasionships, or in the demands you put on yourself, |

Stress can also be caused-by good
getting married. ™

How can you tell whcnﬁy?ur life is getting too “stressful™? You will probably fidd yourself always fecling
rushed, as though you must huq'.y..;.wcrywhcre you go. There is never enough time to do cveérting that you need to do.
You may find yourself walking, talking, .and eating more quickly than usual,

Besides causing emutiogal-rproblcms, stress can also cause real physical prnblcms.iffizou have too much stress
in your life, you may suffer framstomach problems, headaches or neck and shoulder paiﬁl.:ﬁ

Prevention is the best way to deal with stress. First of all, be organized- there i§‘-holhing so stressful as a
disorganized life. Put your life.and your surroundings (your home, apartment or desk at Work or school) in order.
Don’t procrastinate, Stop puttiﬁg‘_éthings off. Do what needs to be done today. On the othcr hand, don’t always feel
that you have to do everyting right now. Learn to say “no” to activities and commitmérigs_i that will only add more
stress to your life. Remember that you are only human, and that you can only do one thirié At a time.

Learn to relax. Slow down! Take a break or a walk when you feel yourself gctting'éf:!essed. Find a hobby that
you enjoy. Reading, listening to music or creating something with your hands are all great ways to bring some peace
to a hectic life. Learn to laugh atyourself arfd your life. Try to look on the bright side of li@’. Even when things seem

things in your life, such as getting a ncwjob.f’t"ﬁoving to a new place, or
44

pretty dark and stressful, there iSusually a place for some humor and a smile. E:--‘
[
129 What may cause stress? (Choogz:%he most appropriate option from below) i
(A) Whenyoudo Yoga. ... 1
/(B) When you goon vacati%i}:}vith friends. r‘n
(C) When you make changeﬁ;i,n the demands you put on yourself. 4 j
(D)  When you relax and meditate. |

(E)  Question not attempted
£ ki |
130 How to tell if you are too slresig_cl out ? (Choose the most appropriate option from be]ow_)",:
(A)  You have time to vo]ung_eqr for many social work. -.,‘
_~B)  You are relaxed and take-life easy. ™9
(C)  You feel full of energy and josh.
(D)  You run short of time ta'do all you need to do.
(E)  Question not attempted [ }
i
i~
g 5 » most ¢ iate option from below
131  What is one of the appropriate way to manage stress? (Choose the most appropriate opti : f'gmt ow)
(A) Take on many assignméiits together. _ ‘

_ Do everything by yourselfiand avoid delegation of work.
(C)  Plan and organise your Work. r
(D)  Rush all the activities yb[ﬂdu. Y

s ~
(E)  Question not attcmptcdl’"_ ;} Q2
(4 ] T8

Yot

(.0

Y

idi ctoes’ I : ions below:
Ledning of the idiom *to be on your toes™ from the options
=aning 0
3% Choose the most appropriate “':?i[ ¢ ' (B)  bealert and ready for anything
i Takcabrf-:ak () Lookon the bright side
(C)  Putting things off

(E)  Question not attempted

AlS) g

27 [ P.T.O.
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134

135

Who was known as ‘ Frontier Gandhi’?
(A) Khan Abdul Gaffar Khan (B) Mohd. Rasooq
(C) Mahatma Gandhi (D)  Sardar Patel
(E)  Question not attempted
efimra T & T H R ST ST oy
AA) T 3egd TERR G (B)  HIEE TLF
(C)  WETeHT TTieft (D) WERTH
(E) ¥gafa war
Which of the following are not the Artificial Intelligence (Al) related projects initiated by the Rajasthan Government?
(A) UID (B)  Audio Analytics
(©)  RajBOT (D)  Revenue Intelligence & Analytics
(E)  Question not attempted
Frfafea & & == TSTEAT TR g1 I[& 6t 718 iEfrRrre Rfestw (o, o1, & wafir wfwemmd =2 22
L) g e B) Hifedr vnfafean
(©) UsER (D) T @it 3 fersymor
(E) Iuiayy
‘Who amongst the following Indians has been recently selected for the ‘Goldman Environmental Prize 2024°?
(A) Tulsi Gowda (B) Rajendra Singh
(C) Ramesh Agrawal (D)  Alok Shukla

(E)  Question not attempted

et g1 | e 3 & o ety s =1 ol qafaor qaeanr 2024° 3 g3 22

(A e B) T=xfdE
(C) T ETS (D) ATl Y
(E) SAgaRdud
136 If‘m’ is proportional to ‘n’ and m = 5 when n =4, then what is the value of m when n = 20?
afz ‘m’ & ‘n’ FATIAIT €1 GF m=5 SFieh n=4 1, 5 n=20 & T m T J FT LT
(A) 25 ' (B) 20
(©) 28 (D) 225
(E)  Question not attempted fﬂﬁﬂﬁﬂgﬂ'
137 The length of a cold storage is double its breadth. Its height is 3m, The area of its four walls (including the doors) is
108 m?, Find its volume.
T Tt wrErTe Y wand e g @ T B 3w Sd 3m Y sl W e (e 9 e 5 5 8
108 m? &1 s8erT S(yaA T ehifsrg)
(A)  125m?3 B) 256m?
) 216m? (D)  225m?
(E)  Question not attempted / EERIRG R
Al5] % 28 [ p.1.0




138 famfafaa f el 7 T afar @2

a. A= b. =T
[ T d. ferdmon
€.
ﬁ%ﬁqwﬁwﬁﬁﬁwﬂmmmgﬁ
AA)  FaAdeRe (B) FadiediN a
(C) FadAa3Nb (D) Faetc3iid
(B) Sfgaiaww -

139  Diesel engine converts energy from - (Choose the most appropriate option from below)

(A)  Electric energy to sound energy (B)  Nuclear energy to electric energy
(C)  Chemical energy to mechanical energy (D)  Chemical energy to electric energy
(E)  Question not attempted

A wiEifawmrd) (= & et s forehe )

@ TS o1l & Hide St B) Sl & goifies St

(©) et Sort & ahfrwer 3t . (D) Fheras A s ot

(E) SAuRaww

140  Choose the most appropriate word from the given alternatives which bears the same relationship with the third word,
as the first two bear.

Mountain: Hill: :Tree: ?

(A) Forest (B) Rain

(C) Leaf - (D) Shrub

(E)  Question not attempted '
ﬂ%ﬁqw%ﬁﬁ@@é’rsﬁ?%m%ﬁ&q?ﬂﬂ%m%%ﬁﬁﬁqmﬁaﬁﬁmwwgﬁm
& gls: ; t‘tg:?

A S (B) ot
(C) ut (D) et
(E) rqafaws
141  The first Vice Chairman of NITI AYOG was
(A) Nandan Nilekani (B)  Arvind Panagariya
(C) Narendra Modi (D)  Arun Jaitley
(E) . Question not attempted
if s % vy Iuree @ 47
(A) e fcreft 4B)  aptfde wamfean
(C) =ZuE (D) s7Evr et
(E) rgafa g
142 In which of the following budget year, the Railway Budget was merged with the Union Budget?
Frfafiaa & forg s g Qe @1 @oie 99 & srere | ynfirer famn w2
(A) 2017-18 (B)  2018-19
(©) 2015-16 (D) 2016-17
(E)  Question not attempted / 3T S
S) g 29 [P.T.0.

| G
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143

(RL)

45

146

The rate at which Reserve Bank of India lends money to commercial banks is called

(A) SLR ; ‘g (B)  Repo Rate Q
(C) CRR f J (D)  Reverse Repo Rafé’v%
(E)  Question not gttgmpted ™
forer 7 & Tl Pt e e et e ot e e 8, weay
(A) w9 JB) W :'5
© wamam U O) fedrie
® omeRawn

) m
Chandoli was declared’as National Park in 2004. It is located in which Indian staft-:?
(A) Maharashtra (4] * (B) Haryana ¢
(C) West Bengal v (D) Meghalaya ;:3
(E)  Question not at’ijtgmpled ff_?
20mﬁaaﬁeﬁaﬁu%%ma}ﬁaﬁﬁmwunaﬁm%ﬂq%mﬁ%? T§]
(A) wERTg o 4B) & v
(C) ufimsmer (D) HuEE -
(E) smwiaws o :;3
Which state assernbly p!assed a bill to provide reservation in state govermnentjol?s for SC, ST, OBC and EWS from
60% to 77%? b 0

Lad >
(A) WestBengal (7 (B) Andhra Pradesh ‘:D
(C) Kenala i (D) Jharkhand \}

s
(E) Question not zift'émpte:d

ﬁmmﬁﬁmw%mmﬁ%ﬁﬁmm T A, 3, . 6, i geey gq SATEIT T 60% & TS 77%

5 o iy it e C;
(&) ; ~
(a) wfmaEma o B) Fwww &
©) i (D) wwEs ™
(E) omEfEwd () | sy
2

Which of the followi}l'g articles empowers the parliament to legislate on any matter enumerated in the state list in the

national interest, if thc resolution is passed by the Rajya Sabha with a 2/3 maj ority of members present in the house

and voting? (Choose ﬂlc most appropriate option from below) {v)
(A) Article 312 (__ p (B)  Article 360 &
(C) Article54 () " (D)  Article 249 0N
(E)  Question not attémplcd ! ;

ﬁmﬁﬁaaﬁnﬁqmmga}?m#ﬁu@ﬂ%ﬁﬁwagﬁﬁmﬁjﬁxﬂ tﬂmﬁmmmmaﬁw%ﬂ% af
mmwmmﬁmmm SR & 2/3 sgere 3 wer i e 1 (R i 2 Tt 39 e

ﬁﬁ) i { v }
(A) TR 312 AB) 3T 360

©)  rgede 54 (D) 3133 249

(B) srgefca g

AIS] 455 30 [ P.T.O-



147 Which of the following statements is not correct about the Gondwana Coal?
(A) Itis mainly peat and lignite type of coal.
(B)  Raniganj, Jharia, Tata Pani and Himgiri arc some of the important coal mines of Gondwana formation.
(C)  The Gondwana coal belong to the carboniferous period. '
(D)  Itis found in Damodar, Mahanadi, Godavari and Narmada valley.
(E)  Question not attempted
AT e & T H fe 3 X @ s e i
(A) T qEaq: iz 3R Rimge YR &1 e ) : ’
AB) TS, i, ererrt it fenfid, st e ) g sy e ari #) | 4
(C) TiSAMT FIaT HETE et & eiftrg 2| 5 '
(D) % T, T, Meratt 3t etar o 3 wrat s 21
(E) rgaiaws

148  Kattha is extracted from the inner wood of which tree?

(A) Kbhair tree (B) Mulberry tree
(C)  Kul tree §o§ K F Y gt (D)  Kusum tree
(E)  Question not attempted

44 W o ®) W@
© Fagw : (D) FEAUE

(E) Sai@wy

149 Which of the following rivers is the Ia'rgcst'tributary of Indus river? ;

(A) The Chenab (B) The Jhelum

(C)  The Satlyj : - (D) The Beas

(E)  Question not attempted -

ey =1 o mrardy =<t wem A (greeeth) - 82 | ' W
(A) = " (B) S |
4£) HAgHA Sy (D) =™

(E) waf@wy A

150 Where is the famous Sikh Shrine *Hemkund Sahib’ located?

(A)  Sikkim Himalayas (B)  Zanskar Himalayas
(C)  Garhwal Himalayas () " Kumaon Himalayas . i g
(E)  Question not attempted
it o e ende wfea @l feaa 82
(A) faferm feaem (B)  Stient fenrery ,
() TgaTd feder (D) dmd; fewery
(E) i e . -
l Al5 ] % 31 [ P.T.O.
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